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Example 1.4: Evaluate the following algebraic expression:
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Example 1.5: Evaluate the following algebraic expression containing parentheses:

a}2(a+b)+3a—% o8 13l a=7 b=2.
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Example 2.3: Solve each equation: 145 Y1 ¥slaall oy IS Jo- 123 Jlta

a) x+3=8
b) 5+y=13

c) x=10=2

a) x=8-3o0r5

b) y=13-50r8

c) x=2+10o0r 12

d)3x=12
e)12y=3
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Solving a Pair of Equations by Addition or
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Solve: 3x-7=y rdoleadl |
4x-5y=2
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15x~ S5y =135
~(4x—-5y=2)

I1lx =33

x=3
4x—-5y=2
4x-5y=2

4(3) - 5y=2
y=2
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Solving a Pair of Equations by Substitution
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Solve:

Ix+y=35
32y +T)+y=35

6y +21+y=35
Ty =14
y=2
x=2y+7
x=212)+7
x=11
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Ix+y=135
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Problem 3.4: Solve the substitution:

a) x-y=12 b) x=2(y-9)
Ix=x-4y 4x+40=y-17

2) (8,4) b) (~=12.-1) ol
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(a) x+2y+z=4 , 3x —4y—2z=2 , 5x + 3y —5z=—1

(b) 2x —y+3z=2 , x+3y—z=11 , 2x — 2y +5z =73




